
1

A|1PC B|1PC C|2PCS

D|2PCS E|1PC F|1PC G|1PC M|1PC N|1PC

H|M6X55|4PCS I|M6X15|16PCS J|M6X60|2PCS K|M6X45|2PCS L|M6X35|4PCS

Assembly instruction of XS-SL009



2

A|1PC B|1PC C|2PCS D|1PC

E|4PCS F|M6X15|8PCS G|1PC


